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QUESTION 1

Which of the following describes how a router sets the destination IP address for an RSVP RESV message?
A. It sets the address to the system address of the head-end router.

B. It sets the address to the next upstream hop from the ERO.

C. It sets the address to the next upstream hop from the PSB.

D. It sets the address to the next upstream hop from the RRO.

Correct Answer: C

QUESTION 2

Which LSA type is used for OSPF-TE?

A. Type 8 LSA -- Link Local LSA

B. Type 9 LSA -- Link local Opaque LSA
C. Type 10 LSA -- Area local Opaque LSA
D. Type 11 LSA --AS Opaque LSA

Correct Answer: C

QUESTION 3

What labels are encapsulated in the tunnels used by a 6PE deployment?

A. The inner label is the IPv4 Explicit Null. The outer label is the MPLS transport label,
B. The inner label is an MPLS transport label. The outer label is the IPv4 Explicit Null.
C. The inner label is the IPv6 Explicit Null. The outer label is an MPLS transport label.
D. The inner label is an MPLS transport label. The outer label is the IPv6 Explicit Null.

Correct Answer: C

QUESTION 4
Which one of the following statements regarding RSVP LSP configuration is true?
A. LSPs must always terminate on a system ID.

B. MPLS and RSVP must be enabled on all routers.
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C. Interfaces must be individually created in RSVP.
D. Path definitions must include at least one hop entry.

Correct Answer: B

QUESTION 5

What is the common usage of the MPLS EXP bits?

A. Each implementation can use them as they see fit.
B. They are used to carry the Ethertype value.

C. They are used to carry the TTL value.

D. They are used to carry QoS classification.

E. They are used to carry fragmentation flag information

Correct Answer: D
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